T KELLICEI HERAR(RIER O FRIR)

Rk BN, ER

BRBERDES SUERI D FRLE
B BT & B 209BN5678

& T £ | 411]p)
it

e th — R TR AT S KkF I
B B M BEEFRERmGEREEEIAN —ErRt i—

= =
p g 2 ’ L
AT 52 ez
) fYpr , SN 5 N g s
o5 LS G N
K \( 5 oy
. - CEN . RIS
mn#nﬂ Ny = b),
) : & N AR
! ) X -High
{ qmﬂ/ T -ﬁ/f’ '\Lﬁ HW’- £7
W e
3 )B/ELU © SLBENE " mﬁm'
o
] v Tf»x\hﬂq Figf xi’éﬁﬂ_" e
") S S o
T o T A
V. 7 &N . ?a ik %-.fi;, i
A R
. ER

ﬁ%;}’{ fﬁﬁ 4\3'/_ S ’
} ﬁ 4% 1 " A

s
250 500 m §

#ELRH(S 1: 200 000) u%H(s 1:25 ooo)

=] 1 Hh EE R 0D B Fih #2 X1 200000 — B8 J B N B FHh 2 B 250000 F EE AL &8 . FEERaERI 488 BFE




SEMMORERERXREHAE
BX3—1 BEOEZTNOHILH. ELLVEENEZNDOHLLHORER _ | =mEEE 202341
2 &' &k o & & BWES | 209Ns67s | B ALHID [ M A TR K

L/

MR BEOBENOBELHORE TEZOBII= L5 N A100KN, MEB HRE
AB ) Fa — ELLEEOBZhOBILIOKS: [ +BEE0¥MEImERL HHH

BEEE



RO IR R R E

BRe—2 BEMIERIHLEESNDEEICEHT HEEA1/1) REEE | 20234 F
2RO E | EmES 2095N5678 ERE | LD [ maie | B T ik 7Ll
" SMERHO FinlZBET 51 RSN
ﬁ%&g TEREFOBHOEILADOKRES TREDOHBEBSILADKRES TREOBBOEILADKRES TREDOHBERILNDOKRES
= = DV DN | = = DV = DN ==
E= X 4 .:S Tirrﬁb(:f)ﬂﬁﬁﬁ jj(lfr?fn?)é X 4 —Flﬁﬁﬁgé(ﬁ;ﬂ: .Z.s jj(lfr?fn?)é X 4 ,(Er,na; J:mb(z)a)ttm jj(lfr?fn?)é X 4 J:JnﬁiJ(z)@tI:.a 'Z]S jj(lfr?fn?)é
] 100kN/MZ#8% % — -~ — —|(3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mERBZB -~ — — —
ThES 1.00 | 000 ~ 4.18 5225 | #hlist | 000 ~ 418 2.03 10.24 zhst 1.00| 500 ~ 5.00 5225 | #hlist | 500 ~ 500 | 2.03 10.24
) 100kN/mMZ#8% % — -~ — —|(3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mERBZB -~ — — —
ThES 1.00 | 000 ~ 7.69 9857 | #hlist | 000 ~ 7.69 | 227 11.49 zhst 1.00 | 500 ~ 1042 9857 | #hlist | 500 ~ 1042 | 2.27 11.49
3 100kN/m%#8%%| 1.00| 000 ~ 0.86 112.91 [3mZE# x5 - ~ - - —| 100kN/m%#8%%| 1.00 [10.81 ~ 13.34 112.91 [3mZE# 23 - ~ - - -
ZThLS 1.00 | 086 ~ 865 100.00 | #hkist | 000 ~ 8.65 | 2.31 11.68 zhst 1.00 | 500 ~ 1081 100.00 | #hLlst | 5.00 ~ 13.34 | 2.31 11.68
4 100kN/mMZ#8% % — -~ — —|(3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mZERBZB -~ — — —
ZThLS 1.00 | 000 ~ 3.36 4272 | #hilst | 000 ~ 336 | 2.24 11.31 zhst 1.00 | 500 ~ 5.00 4272 | #hilst | 500 ~ 500 | 2.24 11.31
100kN/mMZ#8% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLS ~ ZzhLst ~ zhst ~ ZzhLst ~
100kN/mMZ#8% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLS ~ ZzhLst ~ zhst ~ ZzhLst ~
100kN/mMZ#8% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLS ~ Zzh st ~ zhst ~ ZzhLst ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ThLS ~ ZzhLst ~ zhst ~ ZzhLst ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImERZS ~
ThLSH ~ ZzhLst ~ zhst ~ ZzhLst ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImERZS ~
ThLS ~ ZzhLst ~ zhst ~ ZzhLst ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mMZ#BZ % ~ ImERZS ~
ThLS ~ ZzhLst ~ zhst ~ ZzhLst ~
100kN/mMZ#8% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ThLS ~ ZzhLst ~ zhst ~ ZzhLst ~
100kN/mMZ#8% % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
ThLS ~ ZzhLst ~ zhst ~ ZzhLst ~
100kN/MZ#8% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ThLS ~ ZhLst ~ zhst ~ ZhLst ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
TS ~ Zh st ~ Zh st ~ Zh st ~

iy
H
T



